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1 Raniganj is si i
o g c_)ldtz:::‘ﬁcld is situated in @) West Bengal
(©)  Madhya Pradesh Oy ke
(E)  Question not attempted
TS Hiefies i feera &1 :
(A) e (B) T
© wERy (D) e
® omefaya i
2 Which of the following statement is not correct about the Khetri Copper refining p
(A)  Itis situated in Bikaner district of Rajasthan.
(B)  Italso has a Sulphuric acid plant and a fertiliser plant.
(C)  Itisan integrated Copper mining-cum-ore refining plant.
(D) It obtains copper ore from the Malanzkhand copper mines. -
(E)  Question not attempted
mmﬁﬁammwmmw_@ﬁmﬁaﬁ@
(A) — T8 TSR 3 st firet 1 fRorar 21
(B) S U Tuehi qeTe w37 St g oft )
(C)  T& Tk Wahlahd sl W-0E-3TI5F T T 21
(D) & HSISTEUE AT W W, TS 31 YIH T )
(E) rguf@ws
3 Which of the following is a brackish water fish?
(A) Loach (B) Rohu
(C) Perch (D)  Pompano
(E)  Question not attempted
fefeftaa 3 & = = @it ar < gt %?
A) @ ®
© ud (D) ey
(E) Srgafa9q
4 Find the number of coins, if each coin is 2.5 cm in dj . -
cylinder of height 10 cm and diameter 5 cm, meterand 02 em thick,to be melted to form a right cir.

L .
o ferat a1 frererTn 80T 6 e s Hifv qﬁqaﬁ?ﬁ‘“ﬁm 10 vt afr
(A) 200 ® 25
(C) 50

(D) 100
(E)  Question not attempted / 37afta uu

5 Internal length, breadth and height of a rectangyar box are § ¢

5 m, 6 cm .
How many boxes can be packed in a cube whoge volume and 4 ¢y, Tespectively,

ua AT fesa & ad, Ygré 3 Srerd sy, i 6144 ¢y, ?

(@gfera) g7 8 cm, »6em a4 m Rl 6144 3 o
4 cm :

(A) 28 . . STRIER 3 e 3 forc

©)¢ 32 o 34

(E)  Question not attempted / 3TTaRd Wiy ) 36

A17]E3 .
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@ If the word “MATHEMATTICAL” is spelt with “N" in place of “MA™, then the percentage rcdumn in the number

of letters, is: O
“MATHEMATICAL” :rréf’ii AR “MA» F e e N Rerar st ay vt i e i frae afor %ﬂt Farft?
(A) '53% 1,:‘} B) m‘;% o
o s —~
© 20% P D) 1 63 % : [~
(E)  Question not attemptéd / 37w v i

[ 7 A lent T 600 to B for 2 years and T 200 to C for 4 years on same simple interest. He reccived all together from both,
| T 100 as an interest. The rate of intercst is
‘AT BRI @gﬁﬂ%ﬁaﬁt ‘C’ T 200 SR A 3 forg wwT Hrawer S Tz 2 28 e 2 100 7
ST 1 51913 s B B Ao BT
A) 4% el ®) 8% gg
©) 10% m © 5% o
(E)  Question not atterratjd / SraRa v o
8 Animal Husbandry contributes around ______ share of agriculture sector in Rajastimn. e~
(A) 34w ;mi ®) 158 -
(©) 1/4% @) 134
(E) Question not attemglfd \ ‘ (28]
mﬁﬁ@'ﬁéﬂﬁmq@ﬂw e =1 dvre 21 o
(A&) 3aat o ' ® Vsar o0
©) 4= " @) 1349t ™
(B) AqaRaww o : O
Indira Gandhi Canal has been built on the following rivers : o
(A) Sabarmati and Parvati . (B) Beas and Satluj :
(C) Mahi and Chamba : (D) Son and Banas
(E)  Question not attempted
R et =vex Fer 3 @ forgrAAfeedt v s S @2 ™
(A) aTEEd od et O (B) =ATH Ud WA ()
) w00 (D) AT T ©
® aa i
10 The state of Rajasthan ngj;%tces around % of the total wool production in India. 8
TR Td 91 § F 7 Fenm _ wfawrd Iered war I~
(A) 40 o ) 30 !
(C) 60 ®) 50
(E)  Question not attempted / aﬂﬂﬂ?l PE
11 Which Regiment of the 14dian Army did Major Shaitan Singh belong to? ™M
(A) Madras Regimenlcz‘, (B) Kumaon Regiment g
(C) Dogra Regiment (D)  Bihar Regiment ™
(E)  Question not atte p&d o
o ST e ST BT A AoTE & A2 o
(A) wEmE X o (B) FwrdRnie ~
© SR ) , (D) frnifRz =4
@ FTER

A1713 _ 2 "~ [PT.O.
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12 C
Given below are two statements:
ence were led by non-farmers,

Statement (I): Agrarian movements of Rajasthan be fore independ .
y.N. Handa, Communist leader,

a was led by

Statement (I11): The movement in the Ganganagar are
answer from the opti

In light of the above statements, choose the mosf appropriate
(A) Statement (1) is correct but Statement (11) is incorrect.
(B) Statement (1) is incorrect but Statement (11) is correct.
(C) Both Statement (I) and Statement (II) arc correct.

(D) Both Statement (I) and Statement (I1) are incorrect.
(E)  Question not attempted

A A e R E:

HUF (I): mﬁﬁ%@twﬁwﬁaﬁaﬁmﬁ?ﬁfﬂtﬁmﬁﬁww
Wal):mm%mmwm@ﬂﬁgm aﬁ,@%mmm

ST FHYAT & TS H, 4 foo e e # @ wafad 3T ST {

(A) e (1) T & AR s (1) T (B) m(l)w%émaﬁm(ﬂ)m"r%l

(©) e (1) STCHEA (11) A T 8 (D) aau:r(l)aﬂtm(n)aﬁﬂwa

(E) ~ aha ¥

pass located through which road connects to Tawang?

ons given below,

13 Where is famous Sela
(A) Assam (B) Meghalaya
(C) Arunachal Pradesh (D) Sikkim
(E)  Question not attempted : L
uﬁﬁﬁmwmﬁﬁmﬁﬁﬁaah?ﬁmﬁwé? |
(A) FEH ‘ (B) HEEH ; e
() ITEE S @) b &
(E) LEl _ ‘
14  Whenthe government spends an amount equal to the revenue that it collects, it is known as a: ¥ '
(A) Balanced Budget ' (B) Equal Budget
(C) Deficit Budget (D)  Surplus Budget ?

(E) Question not attempted
mmﬁmﬁﬁﬁm%mmmm%’ ]

(A) Hg T (B) WAHTWE
€ TRFTT (D) T ESE

() oA A : |
. is the author of the’G 1T 4 3

15  Who among the following eneral Theory of Employment, Interests and MoneY » regarﬂd ..
one of the most influential books of the twentieth century? : |

(A) Kenneth ArToW (B)  Friedrich Hayek s
(C) Robert Luc2® (D) John Maynard Keynes :
(E) Question 1ot attempted o i
e 8 T S T R, e 3 v § ok 2060 et @ A
Wmm%‘? e R
) P (B)  reher g

© TRIT (D) S s By

E T

A17 ]@
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Who among the following is known as the father of Green Revolution in India?
(A) Hiralal Chaudhary (B)  Sam Pitroda

(C) M.S. Swaminathan (D) Verghese Kuricn
(E)  Question not attempted

=t & 9 e wea o v ity 7 se s ST 29

(A) ErreTer |l (B) A frirar
(C) . TE. SN (D) =it i
(E) gala s

What percent of the Indian population was dependent on agriculture for their livelihood at the time of independence?
(Choose the most appropriate option from below)

(A)  About 65% . (B) About 60%

(C) About 85% (D) About 75%

(E)  Question not attempted

AT o A ST A Rt e e st strsfifie 3 v Ffw Pt sfte (G # & wert 3mes e 79)

(A)  65% M (B)  60% &
(C)  85% =T (D)  75% TS
(E) <Iguias™
Fraaar dsaraEE 2
A TE (B) U
(C) =i (D) =iz
(E) SaRaww
Fae H Iqe 2-
A) == B) =T
c = ® =
(B) rguf@ss |
“FTESA” ¥ok § Wl &-
(A)— & B) 4
© ®) ==
E :ﬂgﬂﬁan‘ﬂ
%;%ﬁaaﬁﬁﬁ-ﬁm-@'%mmaﬁﬁ?{ _
a RN : b. T
e 4 T
e. ™I ‘ &
iy fwaTe farredt i & watfara ITGT ST H AT HIC; :
(A) Faecsite (B) FacdaiNa
©) Fastasib (D) Faebafrd
(E) Irgafass
frafafaa § g e 2-
o~ T b, W™
. e d. ugw
e. ~ HHEFA
i R et i & watfien ST A ¢
(A) Fada3id - (B)- &aela,cafie
(C) Fa@a3ic ST (D) mcm"
(E) ﬂiﬂ'ﬁ'ﬂﬂﬁ &

A17 ] | S [ P.T.O.
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RSIICH] - ()

” T ) b HTgEEHtel O

. - a7 v e 2100

c. aaamy_rgji‘rama?zml d. 9% s

c.xo T AN Ve R 3

A1 R e Rt 3 A e weges S &

@) Facsea™ ®) Fadasiicy -

(©) Faabotea b (D) FEeadiic -
aas@ww‘*

24  Given below are two statements:
Statement (I): Sansiis Nomadic tribe mostly found in Bharatpur district.
Statement (IT): Thc@) division of Sansi are Vija and Mava.
In light of the above f tements, choose the most appropriate answer from the optianEgiven below.

803

'

(A) Statement (I) '@omct but Statement (II) is incorrect.
(B)  Statement (I) {§"incorrect but Statement (II) is correct. .
(C) Both Statemeft(l) and Statement (II) are correct. 3
(D) Both Statemeft’ (I) and Statement (II) are incorrect. |
(E)  Question not attempted :
e S e g E: ) : (L8] |

00

1

e (1) e e e 2, i B s gy B e O |
=97 (10): mmﬁ%aﬁm S AT AL - ' g : '
T <13 e o & v g S o |
(A) FHEOTER F (1) e 8 (B) = () TTeId & Sl S (I1) T R |
(©) = (1) 3 (1) 3 W ) wmaﬁzw(uﬁﬁﬁma

® saRawa |

25 Given below are two statements:

Statement (I): The Ghambal project is a combined project by the Madhya Pradesh g&'te and the Rajasthan state.
Statement (II): Maﬁﬂmwcr project is located close to Udaipur in Rajasthan

In light of the aboveSfatements, choose the most appropriate answer from the opti iven b
(A)  Statement (Tis correct but Statement (I1) is incorrect, {rjeven belos
(B)  Statement (I)yf8incorrect but Statement (1) is correct,
(C) Both Statemént (1) and Statement (I1) are correct.
(D) Both Smlcm!El‘ (1) and Statement (I1) are incorrect.
(E)  Question not attempted

#1221 g few o B o)

wUA (1): "vae qfrfaan v gy sy si U 5 ) i o
W (11): HiEl S ST B 35T ¥ e g Sl
ST T & A1 fau 1y fawe i mﬂ‘mﬁm

(A) T (1) wél B A (11) et ) ®) ::?iﬁ' o

() T (1y st e (1) 2T wel # ) () e R AR () wd
® = Fhamm v ) mm(“&‘-ﬁﬁmﬁ

A17 ]@ i

3803 1700
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Which of the following writs is issued by the supreme court to prevent an inferior court from usp.rping jurisdiction,
which is not vested in it? ’
(A)  Prohibition (B) Ilabeas Corpus
(C) Mandamus (D)
(E)  Question not attempted

Freaferfar 3 & @ Y R sweraw =rraerar gmer sy o6 sl &, it Frerer srrera o T A o ST B e &
it 3w AT A P T

Certiorari

(A) sy (B) Y wemefiaror

(C)  wHRH (D) eor (wfaiieth)
(E)  orfaie wa

“Blue Revolution™ is related to: (Choose the most appropriate option from below)
(A)  Flower Production . (B) Milk Production
(C)  Fish production (D) - Fruit Production

(E)  Question not attempted

el eifer wiefere 2: Frer & vl s e )

GV SRS ER (B) FUIAERAY
(C) woeh IR & (D) el IERAY
(B) gai@ ™
Which problems are being faced in human capital formation in India?
a. Rising population b. Brain drain
c: Deficient Manpower planning d. Low Academic Standards
Choose the most appropriate answer from the options given below:
(A) a,bandconly. (B) a,b,canddall
(C) aandbonly. (D) bandconly.

(E)  Question not attempted
T & A gsft Frafor § 6 wmen on w &

a.  dqdl SHEET b, Wi IERE
c. gty s FrsE d. e o aee
e frw ma feraedi 3 & waifards 3G WA :
(A) Fada,b3fc (B) a,b,c3R deft
(C) #Fada3Nb : (D) FaabaNc

(E) rguftagg : B
The main objective of ‘CHAUKA SYSTEM’ of Rajasthan is to :
(A) Manage Water Resources in Water Stressed Regions

(B)  Manage Food System in Rajasthan

(C)  Support Bee Keepers

(D) Increase Animal Husbandry

(E)  Question not altcmptéd

TS e e e SR R

(A) O o Iqcrerar arel &1 § T & daTaHT o YA e

(B) TSI H siisi gomredt 1 Fe T HE

(C)  weerGl wTereRt Y WA FA

(D) 9Y[ IR I SHT :

(E) rgufa wy

A1 ‘
A7 i [PT.0.
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technique common to the Thar desert region of Rajasthan.
(B)  Agro Industrial Work Jystem

D Rainwater harvesting
) o)

o

30 ‘Taanka’ is a u?fiitional
(A)  Animal &sbandry
©) Agriculw
(E) Qucstio(ﬁf&nl attempted

TTEITH o 9T YR & 7w ¥ T ‘T UE T aFATE 2l

A TYIED B) Ffu sdrenfies wd
© FE (D) = ST W ~

 (B)  rgaiawed i

y The percentage of area under cultivation in Rajasthan is around
(Choose the most appropriate option from below) ~
TR § Al Shar T e e #1 (P & ged v Rwea g ()
@A) 5% o (B) 60% 8
© 45% () D) 51% m
(E)  Questio ot attempted / 3TN T
@ When a commddity is sold for ¥ 69.60 there is a loss of 25%. The cost price of the coxE::}odlty in T is:
ST e S T £769.60 T ST S8 f 25% M Sreit 81 5 1 Tl e 94§ 1 8
(B) T90.20 ! 3

(A) T94.80v{
(C) T92.80 (D)

(E) Questio&not attempted / A T2
@ A batsman ma@ a score of 90 runs in the 17t i

¥ 88.80

inning and thus increases his avera%y 3. Find his average after

170 inning? €0 o0
(A) 40 RunfY) (B) 42 Runs ™
(C) 44 Runf2) (D) 38 Runs Q

(E) Quesnogot attempted
oF FedETS 17 ot & 90ﬁwﬁm%%ﬁm%3mwhﬁm%mmm

3T ifer v
(A) 40w (B) 442@
(©) 44T vy 2 ,& (D) 38

(E) STERqEF

The income of¥r. Dhull and Mr. Hussain are in the ratio 7 : 4 and their expenditure

Z 10,000, then{M. Dhull’s expenditure is:
o1, treet 3 ACHET 1 3 FT A7 : 4 8 Y H A2 : 1} IR AT 1@00%%%{&%3‘1% aet

n the ratio 2 : 1, If each saves

8?03

ey O o
(A) %70,000™ (B) 75,000 ~
©) 760,000 (D) 265,000 =i
(E)  Question not attempted / 3T 54
35  Frafafaa wes) & dfu-faede o saeie e gt 6 veam fif ,
a. =gfd + 0 ¥ bt Frm=fr+mrw - M
c. =qq + U~ dy 3R = i+ I -
e. Wﬁ-m’uﬂﬁ’ : , €0
=fre o e Ferae i & warfrer g S iy
(A) Fcelie (B) adela, b3k d 8
©) Fabreadid @) ¥, dsfte
@® IR v _
8 [ P.T.O.

A17 13
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37

1713

Which of the following organization functioning’ under the Ministry of Statistics Planning and Programme
Implementation, Government of India conducts five yearly surveys of employment and unemployment?

(A) NSSA (B) SSP o™

(C) NSS - (D) NSSO

. o
(E) Que;:_mn not{dtfempted
T T % Wi eahy, ISt Ud el shrdaer waerd o otefi Prefeiftae # & 4 meg %wnaﬁtﬁt-m'ﬂ
T T ATRYD | . i o

(2)) @W(N(z?) (B)*  wawadt (SSP) * O /
(€) TATHTH N - D) TATETES (NSSO d
o Vo (D) (NSSO)  yo

What is the total income of the country divided by its total population called? (Choos¢ lha_nqost appropriate option
from below)

(A) Gross Incomé¥) (B) NetIncome (42

(C) National Incéme (D)  Per Capita Income o

(E)  Question not{affempted
%ﬁéﬂﬁﬁ@mgﬂ}aﬂaﬁrgﬂmﬁﬁmﬁﬁg&m@ﬁmﬁmgﬁjﬁ%%—(ﬁﬂ%mmﬁm@
A) FTEIAE O : (B) FAI o

€ TEEIE O (D) fa=afE 3T o

(E) !IQI E[I SR P‘ [\-\
From which of the following funds all expenditure of the Government is incurred and no_ :;_r_n_fl,mt can be withdrawn
from it without the authorisation from the parliament? '

(A) Public Account (B) Private Account

(C) Contingencyynd (D) Consolidated fund o

(E)  Question nofAstempted i

ﬁm%ﬁa‘cr%q ﬁ@rﬁ»‘qﬁ%frm%mﬁmﬁqqﬁ%aﬂtm%mﬁm%ﬁm;ﬁﬁ%uﬁmﬁ&mﬁﬁm
LETIRY.

(A) TwTEr , @®) e ™M

(C) SATRIEHHAT i (D) aafwa ffr <

(E) gaia 94 ~ -

Given below are tatements: ' i

jament of Religions held at Chicago in 1893, Swami Vivekanandade a great impression

Statement (I): At the parl
s opening address was the need for a healthy balance

on people by his learned interpretations. The keynote of hi

between spiritualis d materialism. .
Statement (II): [n“g’, he founded the Ram Krishna Mission. The mission stands for re{igjous and social reform.

He was a great humanist and used the Ramakrishna Mission for humanitarian relief and sofi3l work.
In light of the abovmtements, choose the most appropriate answer from the options givébelow.

(A)  Statement (I)ﬁﬂ:orrecl but Statement (II) is incorrect. ™
(B) Statement (Dfiskincorrect but Statement (11) is correct. o
(C) Both Stateméai(l) and Statement (II) are correct. o
(D)  Both Statemént«(I) and Statement (I1) are incorrect. ~
(E)  Question notyatfempted
HY (1): 91893 & vt 3w wnfiien dag T e fora rm wamdt fardrenre X v frgar qof saneart @ st
St 3 T T STl 7 g o 3 e fig 4 o srearare i st 3 A o T W A
AT 2 ' ST '
T (I0): 1897 i 37 T out R o T o) forgr oo S a2 s et e O e AT
& it = 2 gt AT ST R aed it it & o fem - C0
Tl Fe ¥ Tty #, A faw e fredt i & wearffare Iuge AT (A0
(a) w0 T o (1) TTeTd 2 (B) &y (1) Terd @ Qfer s (1wt 81
(©) A (1) 3 ety (11) ST e & (D) e (1) SR (11) SRt 20 81
€) omafawy B ==
+ o [P.T.0.
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40 Who formed a women’s regiment in the Indian National Army in 19437
(A) Jawaharlal Nehru B JSutienn Ch_andm R
(C) Mahatma Gandhi (D)  Sarojini Naidu
(E)  Question not attempted
1943 ¥ sftea et st witver Wiz it v frad ) o _
(A) aTEET AEE (B) YEZ M
(©) wRwEH TR (D) wRHE TR
(E) oraf@ws -

41 ‘In Memoriam’ painting was painted by whom in 18597
(A)  George Paton (B) JoneKersia
(C)  Jone Borkar (D)  Joseph Noel Paton
(E)  Question not attempted
1859 ‘3 A s Afsy e g s o ofto
(A) St (B) S HRAT
(©) <sER D) REAEYe
(B) ¥ war

42 The Mudaliar Commission was setup in 1952 to: (Choose the most appropriate options from below)
(A)  Examine the condition of the secondary education system.
(B)  Formulation an industrial policy for an independent India.
(©)  Study the allocation of resources between the centre and the states.
(D)  Study the demand for the re-organisation of states based on basic principles on liguistic basis.
(E)  Question not attempted
1952 H Haferar a1 oY oA <6 7 oft: (Fre= 3 2 ey 3ogres forarea
()  meafies fve yoredt i Reafi i site & oy :
(B) ¥ W % fore e Aift dam e & o
(©) ﬁaﬂwﬁr%ﬁamﬂﬁ%m&qwmm%ml
(D) w%wmuﬁ%m#mwm@ﬁaﬁ%wmmw%ml
(B) af@ys

43 Rajaji Tiger Reserve is located in which of the following states?
(A)  Uttar Pradesh : (B) Madhya Pradesh
(C)  Uttarakhand ' (D)  Rajasthan
(E)  Question not attempted '
Freferfiaa i & = @ o 3 st erd e e 29
(A) SWWRY _ (B) WerWRyr
(C) <uu@s (D) TSF
(E) iafayy

44  Sariska National Park is mainly famous for? (Choose the most appropriate option from below)
(A) Indian Leopards (B)  Siberian Crane
(C) Royal Bengal Tiger (D)  Asiatic Lion
(E)  Question not attempted :
TfeeT A I Tea: s Ry st 27 (=t 3 ot 3 v )
&) TR (B) WA 3
() TSI TR : ®) R
® AR -

A17]33 . e

R e
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Which of the following statement is not correct about dry teak forests of Rajasthan? (Choose the most appropriate

option from below)

(A) Generally the he‘fﬂht of the trees range between 9 to 13 meters )

(B) Teak wood is COI?’lmf.‘l‘Cla“y useful and used for making fumnitures, panels %oom, windows and house
construction

(C) These forests af‘t—m:ca:ed in the southern and south-eastern parts of state S

(D) In these areas, :iii‘fsual rainfall varies from 150-200 cms. Q

(E)  Question not attcmpted

FreRrfae & T 01 ey e ¥ S i i 3 i & (Pt 2 e 9 et )

(A) wgﬁiﬁWQﬁ'B"ﬂHﬁﬂ?ﬁ%l

B) & B AR IR T F TR 2 O g s i, weE e, fasf i e
BTl (49

(©) ﬁm,m%ﬁ&“ﬁ@ﬁﬁﬂmﬁﬁ@ﬁ%%

©) e iaiiwantafy 150 & 200 Aivier @ A 2

E uq
(E) gaRa oy

Which of the followmg does not correspond to an audio file’s valid extension?
Wﬁ%ﬁm&wﬁﬁw%%m%mﬂ%ﬂ

(A) .rar v (B) .mp3
(C) .mid (D) .wav
(E)  Question not attempted / 3TaRd T4

Convert (101110), = (?)§

{base 2 to base 8} €.}

wRaffahfe L0

(101110), = (?);

(ST 2 A T8} oy

A)  (0), [ (B) (20)
(C) (56) g (D) (48)

(E)  Question not attempted / 3FTad 5=
Which of the following is not a type of the printer? (Choose the most appropriate opgp? from below)

17003803

17003803

(A)  Laserjet Printr | (B 3D-Printer P
(C) Inkjet Printer (D) Dot Solid Printer 0
(E)  Question not attempled o™
ﬁqﬁ%ﬁﬁ%ﬁqmﬁaaﬁﬁﬁwﬁ@ (Frr o & e 3T foed ) o
(A) <ETsE iz (L‘a’s}erj et Printer) B 3Sifix '®)
(©) eie iz !‘“* (D) muﬁ%f:erﬁzt I~
() orgefasa g i
. Mantha river merges in wh:ch of the following lakes of Ra]asthan?
(A)  Anasagar lake (B) Sambhar lake
(C©) Pichola lake (¥} (D) Didwana lake 8
(E)  Question not dtiempted P
ﬁn%f@aﬁ%umﬁ%t%asﬁaﬁwﬁﬁaﬂﬁaﬁﬁ%? o
(&) s (V) (B) whR e o
© frstensie Q (D) Frearm i o
® omuRawa e I~
% -y 1 i [ P.T.0.
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j ?
i onsoon of Rajasthan
50  Which of the following statement is not correct about the winter m

R i infall.
(A)  Winds are dry due to their terrestrial origin impacting rainf ; el
e ith mediterranea .
(B) In this period some winds bring rain after coming into contact with o vinter
g i as impacts rainfall in .
(C) A highly developed pressure centre to their north of the Himalayas impa

i s g r lnfa”_

(E)  Question not attempted

P 3 & ad wr ave, Trorer % g g 3wt i e T 82

(A) Tl Saf ¥ o gand o o &, Rred aut mnfa 8t 21

®) T R § o wand sprvrwmia it g o % At ard 8
(©)  Temrera & s w v e fra zama g wfid # aaf 6 wferd e 21

(D) WA I g A & wreha fe e & Y oir gand wer et €, frad s et 21
(E) guiawy

51 Jantar Mantars are located in these two cities - (Choose the most appropriate option from below)
(A) Jaipur and Agra (B) Mathura and Jodhpur
(C)  laipur and Delhi (D)  Delhi and Gwalior
(E)  Question not attempted
5 2 et i s s e - (P e e e )
(A) SEARTE I (B) WU T g
(C) AR feelt | (D) el R
(E) sdaf@ws
52 Who among the following is not included in the committee constituted for the appointment of chairperson of tt
’ National Human Rights Commission?
(A) The Speaker of Lok Sabha (B)  Leader of the opposition in Lok Sabha
(C) The Prime Minister (D)  The Chief Justice of India
(E)  Question not attempted
ﬁmﬁamwmmmmmm_maammmam@
(A) ETEFEETF HAY (B).  wirewa 3 fyey & e
(€) WA (D) R & e =i
(E) wnfa g
53

The State Information Commission submits its annual report to the-
(A)  State Government

(B)  State Legislature
(C) Govemor

(D) High Court of the state
. (E)  Question not attempted

T e s Au afda fond s wega e
(A) TSEEEFER

(C) TS (D) U & gew AR
(B) ogui@a

A1713 12

(B) sy ﬁ!‘ln‘.’mugﬁ

[P.T.O


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda47]

4

1714 13

Con51df:r the.followmg statements regarding delimitation commission in India and choose the correct answer from
the options given below:

Statement (I): Delimitation Commission Acts have been enacted in 1952, 1962 , 1971 and 2002 for fixing limits or
boundaries of territorial constituencies.

Statement (II): Its orders cannot be challenged in a court of law.

In light of the above statements,choosc the most appropriate answer from the options given below.

(A) Statement (I) is true but Statement (11) is false.

(B)  Statement (I) is false but Statement (11) is truc.

(C)  Both Statement (1) and Statement (II) are true.

(D)  Both Statement (I) and Statement (II) arc false.

(E)  Question not attempted

v 3 TR ST 35 e, FretfReRae o T R e g ARy g 1 Rt # & wll e 1 < A
o (1): SRR STET S 1952,1962,1971 3K 2002 # diar Fruffe e ar erfra fererran #ht afed Fraffa 7
¥ fore it o '

o (11): T AT ohl =TT J AT 7 < <1 wahel) )

SR AT & el §, = i o feredt § & watfie sugw Iw g

A) (1) T & AR A (1) T R (B) e (1) T & AR wherT (1) Fe 2
(©) W (1) THU (I1) ST & w8 (D) e () 3 e (11) 2 & e &
(E) aia sy

Who among the following does not come within the jurisdiction of Lokayukta in Rajasthan?

(A) Members of services established by the act of liajasthan State

(B)  Zila Pramukh '

(C) Ministers

(D) The Chief Minister

(E)  Question not attempted

SrfRaa 3§ & I TS ¥ AR § AERER S A T AW e

(A) TSRS TSI ¥ FT R A daei heee  (B) e waa

(€ & (D) FEEHA

(E) Fiuld 9d

Given below are two statements:

Statement (I): The British announced just before India gained independence that the British Crown’s Supreme
authority over princely states would not obligate upon the end of their authority.

Statement (II): The British government took the view that all these states were free to join either India or Pakistan
or remain independent if they so wished. -

In light of the above statements, choose the most appropriate answer from the options given below.

(A) Statement (T) is correct but Statement (II) is incorrect.

(B)  Statement (1) is incorrect but Statement (II) is correct.

(C) Both Statement (I) and Statement (II) are correct.

(D)  Both Statement (I) and Statement (1) are incorrect.

(E)  Question not attempted

T (1): W 1 T @ g e, St e ST 78 S o T off o6 W 91 S Tt 6 WA B 9 terEret W
Wm:ﬁaﬁwl T q

T (11): SIS Tt 761 g Afean o1 & St sl ar v :
SR ar i 3 yfiret € std ar R srgr T
IR T % s, A9 g g faeedt i & watfoe Tagw Sac|

(A) =9 (1) 5t & SRR o (11) TTerd 81 (B) & (1) Tera € AT s

(I st )
(C) = (1) 3R o (1) 21 T € (D) @A (1) 3 ;
i - () 3T (11) A & T 8

[ P.T.O.
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Given below are two statements: : .

uring various eras.

Statement (I): Bairath is situated in Jaipur district. It has been a Very developed place during ; A
. samra

Statement(II): It was the capital of Matsya Region during the Mahabharata pcnofftone plaques© : Oka

period have also been found. :
In light ofitht above statements, choose the most appropriate answer from the opnons given below.

Ef \3
(C)  Bath.Statement (I) and Statement (II) are correct. e
g

(D) Both-Statement (I) and Statement (II) are incorrect. =

(A) Stftehent () is correct but Statement (1) is incorrect.
(B) St;te)mcnt (I) is incorrect but Statement (II) is correct.

(E)  Question not attempted
RAngfm ¢

T (1): A3, SAq firet # Rera 31 7 fafirmr it & 2 o wga & o e 2

HUT (INETE TETIRA T S Toed 85 i TS oIT| FHTE 771k % ohret ohY Rttt afgaprd Wi e’ firedt &

mmﬁﬁmﬁﬁmﬁ e foq e forpedt o & waffares Iuge Sat Al )

mﬁh)aﬁ%éﬁnmm)ma ®) W(DW%@%W(H)W%I
(C)‘- Eﬁm SR () ST EE (D) F (1) IR F, (maﬁ-a?maﬁl
(B) Irgaiaws ' ?ﬂ%
In 1453, who seized Mandor from Marwar and married his son Raimal to a princess of Marwar.
(A) Maharana Lakha ’ (B) Maharana Simbha_
(©) M¥Rarana Kumbhe . (D) Maharana Mokar?

@

(E) stion not attempted

|7.1453 ]ﬁa@nﬁtwmﬁmﬁmm@tmﬁwmmﬁmﬁmﬁw%ﬁmw
B) wErREnfgeT O

() g ST

(C) wemEST @) wewwnEEa O

(E) awaﬂamr i ' s

Which tﬂ]?lstry has introduced the Cinematograph (Certification) Rule, 2024? e

(A) Ministry of Information & Broadcasting (B) Ministry of Law & Justice

©) M,!'m';t:y of Agriculture (D)  Ministry of Commgrce and Industry
(-

(E)  Qu&stion not attempted
ﬁnﬁaﬁ:«:ﬁﬂﬁ ey viarTerar gra wrefem wadt (st Fam, 2024 mﬁ:qﬂ%‘{'ﬁ

) TS s tiArer ®) fafrsfv=m
(C) 3 (D) aﬁmaﬂwﬁn&m

B g =

Sierra Lepng in April 2024, declared a national emergency on the account of : el
(A), Floods (B)  Political unrest

(C) Zombie drug abuse (D)  Food shortage

(E) ~ Question not attempted W'

mﬂa.’m@ Frefeafiaa & frads mor Rrey R U@ﬂmmmaﬁu’lﬂv@nﬁ

(B) U 3ud -qYeTy
(D) wrRT=HrFH O
14 s [ P.T.O-
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Given below are two statements:
Statement (I): Kanjar tribe is mostly found in Kota, Bundi, Baran, Jhalawar, Bhilwara, Udaipur, Ajmer and Alwar
areas of Rajasthan.
Statement (IT): The head of the family is known as *Kotwal in Kanjar tribe.
| Inlight of the above statements, choose the most appropriate answer from the options given below.
(A) Statement (I) is correct but Statement (1) is incorrect.
(B)  Statement (I) is incorrect but Statement (II) is correct.
(C) Both Statement (I) and Statement (II) are correct.
(D) Both Statement (I) and Statement (II) are incorrect.
(E)  Question not attempted
FUT (I): T 7 FHe) St Afersrat Hier, S, T, Frears, ierarsT, 35y, et 3l sTeE sa . O
Einigd]
T (LD): S S H, GRET % @ 1 SHIaTer” % T & ST S 81
I9UITH FUAT &5 AT H, ﬁéﬁqwﬁwﬁqﬁm‘fﬁmmmw

(A) T () T { AfHA 97T (1) T 2 (B) I (I) TAd & Al H9 (IT) FE R

(C) &9 (I) I FY (I1) SH1 Fet & . (D) A () AFHFYF (1) ST & T B

(E) uita 94

Which of the following district has the lowest female literacy rate in Rajasthan according to ‘Census, 2011°?
(A) Jalore : (B) Barmer

(C) Ganganagar (D) Banswara

(E)  Question not attempted

2011 i SO 3 AR e # & e & fea firer 7 afee arear A gl w9 22

(A) @R ' (B) =TeN
(C) TR ; (D) afFarer
(E) &A@y

Given below are two statements:
Statement (I): Red yellow soils found in parts of Sawai Madhopur, Sirohi, Rajsamand, Udaipur and Bhilwara district.

Statement (IT): Red yellow soil is suitable for the farming of groundnut and cotton.

In light of the above statements, choose the mtost appropriate answer from the options given below.
(A)  Statement (I) is correct but Statement (II) is incorrect.

(B)  Statement (1) is incorrect but Statement (II) is correct.

(C)  Both Statement (I) and Statement (II) are correct.

(D)  Both Statement (I) and Statement (II) are incorrect.

(E)  Question not attempted

wT (1): At reft firgt wand ardigy, e, wemiz, seaqt it siicraret et 3 fewet 3§ ard st )
FUT (11): A it firgt sjmmedt it e 61 @eft & ferg 30 R

9T FHUAT & AT o ﬁﬁﬁqmﬁaﬁ?ﬁﬁmﬁ&mmmvﬁ

(A)  =e (1) Wl & Sfer &g (11) TeTd 21 (B) & (1) Terd & ST ST (11) Tt &1
(C) = (1) 3 T (11) SF1 G 2 (D) == (1) 3R A (11) 47 & T &
(E) srgaf@awg X

"IB 15 [ P.T.O.
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in a non-
re is used to store a group of elements 10

64  Whattype of data structu pi -
G’EA) . (D)  Tree ™
Cﬂ(C) Queue 2,

X}g) Question not attempted . ' .
%ﬁﬁﬁ%w%w%mmmﬁ aqaﬁﬂmagzﬁaﬂsm‘mﬁmwm
Qay ® (B) pos
i 4

o =] .
e  EaRa |

65 Vm{’What is the name of the software used to perform specific tasks on computer byiuscr?

(B) Application softyvare

(A) Artificial Intelligence
(S Operating system
CIE) Question not attempted

oyt g s e ferg st
Ay sniERme R (B) Wﬂumﬁw;
Clo) st R (D) FRferd o
- Op)  AqEE A — P
66 L “Which of the following is an Azonal Soil group? . o
v{A) Lithosols soils (B) Tundrasoil (=
(C) Laterite soil (D) Podzolssoil .}
m(E) Question not attempted -
Oﬁﬁrﬁiﬁiﬁ o = ot T gaT anE 82 :
@) T (B) TN "
©) ST @) = O
() FEawH Q0
_ 67 ("3Which of the following is a fresh water lake? m
I ~(A) Didwana | . (B) Pachpadra <
\ v(C)  Sambhar (©) UdaiSagar &
) (E)  Question not attempted | >~
Frferfiaa § 4 A @ aro 9 6 #fer 82 i
n Ma) fezam (B) =9
. Qo) = D) s
_. OdE) wgEiawd ™M
b 68 ("Change the direct speech into indirect speech by selecting the most apprypr{ar_%ﬁm .

' r{c)

“{5; Question not attempted
69 ich of the following is not a procedural language?

A

C) Pascal (B)  PROLOG

) FORTRAN M) C

E)  Question not attempted .
qq?ﬂ%ﬁaﬂm B {35 ot s ufearenss 7€ 89
_ T P
o wew b A

2 N © e

AT71B 1%

CHe said, ‘I am quite a good cook and I do all my own washing and mending to
CIA) He said that he is quite a good cook and he does all his own washing an¢
[™B) He said that he is quite a good cook and he did all his own washing an
He said that he was quite a good cook and he did all his own washing a

(D)  He informed that he is quite a good cook and he can do all his own was

linear mannet?

(D) Utility software

v g ey P ey i AT 82

4]

@ending too.

ding too.

lﬁnending too.
shi

and mending too.

n

™
o
Q@
™
(-
o
™
L |

ik

o

GET IT ON
Google Play

[P.T.
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71

e -‘;.AEJ o th

= -

The starting point of Indira Gandhi Canal is in the state of:

(A) 'Rajas{hup (B)  Uttar Pradesh

‘ ; v}
(C) Haryatiay (D)  Punjab 9
(E)  Questioh not attempted o0
sfer el et sy i foig o Teer 3 @2 "
(A) T (B) IWHA
© hawi (D) @ =
(E)  orafta war [
The Jawahar%ﬁgar Dam is on which of the following rivers? oy
(A) Bandi (B) Chambal
(C)  Satluj¥Y) (D) Sabarmati v}
(E)  Quesfion not attempted Y
SaTet GIR SiE- R RiRaa § § fre wd e o0
@ =@ 7 | (B) e 34
© s @ wmd S
® s ~
Choose the nost appropriate passive fo_nn of the given sentence. v
I don’t like people telling me what to_do.
(A) Idon’tlike what to do by the people.
B) 1 don't Tike being told what to do by people. 48]
(C) Idon’tike being told by the people what not to do. o
(D) People.are being telling me which I don’t like 0
(E) Quesgajl not attempted g
Choose the mtost appropriate passive form of the given sentence: o
I didn’t realise-that somebody was recording our conversation. [
(A) 1didn’tfealise that our conversation was being recorded. -
(B)  Our conversation was being recorded by somebody.
(C) . Our conwersatlon was being recorded and it wasn "t realised.
(D) Soméﬁ:ﬂy was recording our conversation was not realised. (48]
(E) Quesg?l not attempted =7
Identify the word that can best substitute the given expression: o
A state of wQILy or general unhappiness. _ I‘"‘)
(A) Dysn;pguy (B) Dystopia g
(©) Dyxp‘raém (D)  Dysphoria I~
(E)  Questiop not attempted
Find the missing number (?) from the given alternatives. v
#ﬁﬁr{mﬁvﬁﬁfm) wm%ifmﬁwmwﬁl
= z ! ‘ 08
#w+ ﬁe} ©
o0
)
(A) 46 - g (B) 64 o
© 50 (D) 48 oo ]
(E) Quesﬁ not attempted / TR w1 : P
=

\17 1@ 17

GET IT ON
Google Play

[ P.T.O
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77

78

79

If Q means “ +*°, J means ** x **, T means “ - '’ and K means “+ " then

afd QT el 4+, wawd v x T i and - ST K T I+ 1 FTATR, T

30%29;33?%?
.2 TS
(A) 38 "¢ °® (B) 28

© 103 D) 35 |
(E)  Question not nltcmplcdiaﬁ’ﬂfiﬂﬁﬂ !
:

!

i

SHRESHTA Scheme launched by the Ministry of Social Justice and Empowerment is associated with
(B)  Tribes
(D) Farmers

(A)  Armmy Personnel
(C)  Students
(E)  Question not attempted

AT =T 3R e HATTT G & 1 718 A5 (SHRESHTA) A55HT T F Urg grg 2
(A) T wflw (B)  SHSTIfr
(C) o ' (D) framt

(B) aRaws

Which of the following is the first state in India, that has made rainwater harvesting structure compulsory to all

the houses?
(A) Tamil Nadu _ (B) Odisha
(C) Rajasthan (D) Gujarat

(E)  Question not attempted

ﬁnf‘aﬁaaﬁ%mﬁ’va‘nm%amﬁ,pﬁaﬁﬁaﬁmﬁmwﬁmmﬁanamamﬁmnm%? |

(A) dfEeEg (B) anfswm

(C) &N (D) TSUE . 1
(E) 3rgai@ u !
When did the Simon Commission arrive in India? ' ?
T H |IEHT TG & 3T

(A) 1930 (B) 1932

(C) 1925 (D) 1928

(E)  Question not attempted / STFxRd 31
Which fair of Rajasthan is called the ‘Kumbh of the Tribals’?

(A) Sheetla Mata fair (B)  Kapil Muni fair
(C) Beneshwar fair (D)  Kamni Mata fair

(E)  Question not attempted

TSTEATA 31 -8 el TSreri STt 361 ooy aeerma 37

(A) fEar g fer (B) vy den
(C)  avraT e (D) ol W e

(E) Frgaftd 9a

During whose reign, a folk drama *Tamasha’ started? (Choose the most appropriate option from below)
(A) Maharaja Maan Singh (B)  Maharaja Jai Singh

(C)  Maharaja Pratap Singh (D) Maharaja Sawai Singh

(E) Question not attempted

ﬁﬁﬁf‘@aﬁﬁmmﬁ RTINS Sk 12 Y7e o (ﬁqﬁ@-mmﬁm;ﬁ)
(a) TR A (B)  wEwS g fiig

©) ST ST e (D)  WERTe W fiig

@ IO i

I
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jn which fort Kishori Mahal, Mahal Khas, Kothi khas, Jawahar Burj and Fatch Burj located?

(A Jaigarh fort 4 (B)  Junagarh fort YY)
(©) Lohagarh forti? (D)  Jalore fort £
(F) Question not ajtg%pted 3
mﬁéﬁﬁmﬁﬂ%ﬁ%ﬁ@maﬁé\mwgﬁaﬂwﬁrgﬁﬁw?f (")
@) TER ®) g e -
© gl (D)  sreite fren )
® I a
*AGENDA" Fifife # forr arel 3 sepen 2 v e 22 '
(A) R (B) o HTEH

© A ' (D) g (7}
(F) STERENH (v e
mmmﬁm%wmmmﬁmgﬁm (%8
(A)  FE T B (B) B HHFH 34
© smeEdwer ) (D) UFIA A o
(F) Faiaws m ‘ -
et 35 el ST R s 3 e e s e 3 R v g e drar @z £
(A) =T 281 i_; . (B). ITRT363 =
© ITDI243 © (D) 3= 351

() srgafas | -
A E ey i*‘i

T - 1+ o it s Ffe € 21

FU - 11 : T, T TR |rarit ot v ot Seft 1 707 717 S g{:
e 35 e PR ke 8 @ walf 3 30 4,
(A) w9 1| &, e 11 srEe R (B) AT W%,%WH%%I
(C) =1 3R 11 ST 9 & (D) e 1 31 3 oraed &l .
(E) sEfawz ™ =

Given below are tw& Statements: .
Statement (I): The year 1947 was a year of unprecedented violence and trauma of displacement for India.
Statement (I1): India was born in very difficult circumstances in 1947. Perhaps no other country had faced a situation

more difficult than lhat}of India. - (&
In light of the above statements, choose the most appropriate answer from the options givggl ‘)elow.
(A) Statement O orrect but Statement (II) is incorrect, Y}
(B) 1 Statement (1) is‘_d;nconcct but Statement (I1) is correct. ‘i;}
(C) Both Slatcmcég;gl) and Statement (I1) are correct. 2
(D)  Both Statemenpt(I) and Statement (1I) are incorrect, =
(E)  Question not Wptcd v

AT (1): WA F ferg i%?ﬂaﬁa“@‘fffgmamﬁm“ﬁ“ﬁ““ﬁ“‘a“ﬁmﬁwEWM
T (1): 1947 i wiy by 141 A ¥ e afefeafer  gam an s R i

' I AN
WA T e g AT # g 4l Tgﬁﬁﬁm%ﬂ
IR et e o, A1 F et 2 e g e 0y
(A) e (1) wét & Sifer 9 (1) 7T @) (B) e (1) et & Qe st (i) ey
© = (1) 3ik a (I1) a1 |ET §) D) T (1) 3k Iy &
I3 i 19 =4

[ P.T.O.
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Which of the following state was carved out of Assam ?
(A)  Manipur

(©)  Tripura

(E)  Question not attempted

ﬁ%ﬁ#%maﬁmﬁﬁmw*mwm

(B)  Sikkim

A)  wfrg @®) e
& g @) H i
©) : 8
(E)  yqafa sy

12 km to reach hls a,

ft and walked for s oy
Ajay left his office and walked towards East for 5 km, and turned I:Nest for 5 km and then turned Jeg ol
Rakesh who works in same office, left the office and walked towards < Wall
for 12 km to reach his home,
What is the shortest distance between horpe of Ajay and Rakesh?
(A)  24km (B) 17km
(©  34km (D) 26km |
(E)  Question not attempted )
ST T ST e S ot o R %mam,ﬁﬁagméwwaﬂtaﬁm‘@ %f%m Iéﬁm
ST S Srafer i s ﬁmmﬁaaﬂtﬁmﬁmﬁ 5 foreft wrem it R amd R T3

.

qgai}%m%mz%q‘rammaﬁwiaﬁ _
(A) 24 fedft Lon

(C) 34 fe < . & — r_._\
(E) raf@uxy ¢

QandT.PandR sitting together. In which position p is Sitting?

(A)  BetweenSand T (B)  Between RandT

(©) BetweenQands . (D)  Between QandR
(E)  Question not attempted

P,Q,R, STy mﬁ%%'aﬁrmgamaﬁrwél P,Q
P!

v

% oy 331% R, S&Hamrdgry S,T Fau A

i T BT QWT‘%W%"%I P aﬂtkwm%ﬁ pm%a"ﬁﬁ?;
aBT %? = . ‘ . P
(A)  SIMTFHdmi (B) RIT ¥ e i

© Qs &Hdmi D) QMR oy

(E)  srqafw ug

The reaction between an acid and a base js called;

(A)  Addition reaction ®) Dissocimion o

(©)  Neutralization reaction ®) oy ) .ac ion

(E)  Question not attempted Ylic reaction

S T S 811 3 ofr srfirfapr FETCT B

(A) A Sffrar ®)

C)  SeTeifigror sty iy i MIEIES)

E) aﬂﬂﬁﬁﬂﬂ :“a:“i”%?ﬁ
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ich of tl ing i
Whiich of the following cvents is not related to phenomenon of Refraction of light? (Choose the most appropriate
option from below)
(A)  Blue colour of the clear sky
(B)  Formation of image by a lens
(C)  The coin kept at bottom of a pot containing water appears raiscd
(D)  Appearance of Sun before Sun rising and afler sunset
(E)  Question not attempted
+ft o T WA W B syvared A whatfira gt B (P it @ it 3w Prred )
(A)  TE T T v o - ‘
(B) & o\ g wfafiar st fmfor @) -
(€)W R S SRl 3 vt we v Ryt s 31 got wefta g 1 —
(D) TSI & TER SR qatat & e g o e
(E)  gaRd 9=

What will come in place of question mark in the following sentence?
:ﬁﬁ%ﬂéﬁvﬁﬁwﬁfs%mwwm

MOUSE : KPSTC : : LIGHT : __?

(A) MGHFV - (B) JGEFR
(C) MIHIV (D) JJEIR
(E)  Question notiattempted / 1w 947

94  How many genotypes of the human ABO blood group are possible?

T ABO TR a1 & e S w&y (SfiHierRy) ©ya 82

(A) 3 : (B) 8
< 4 (D) 6
(E)  Question not attempted / IFARE T2

| 95 A pen is placed between two plane mirrors which are at right angle to each other. The number of images formed of

pen are: :
a@aﬁ%aﬁaﬁmﬁzﬁw%aﬁawﬂwﬁr@w%ﬁ?aﬁﬁﬁmﬁﬁﬁaﬁm%
(A) 3 B 5
(C) 4 (D) 2

(E)  Question not attempted / FgefE 94

96  The multi channel TV programs can be scen directly at home through satellite by using a *Dish antenna” without any

cable connection : (Choose the most appropriate option from below)

Fgaaet A4l g, fored fortt Faelt et agr &, WX, ferqr f2AT T ST S, IUHE ZI0 HT IEAT EOA &

(e e T e ),
(A) C-DOT (B) CDMA
(C) .DNS (D) DIH

(E)  Question not attempted / waftd 94
97  If any object is thrown upwards with velocity more
(A) Return to Earth
(C) Go into space
(E)  Question not attempted

e fepeft g 1 11.2 kens @ safiras @ ) @ ) i S st 8, @ g

Ilhan 11.2 km/s from earth then the object will:
(B)  Revolve around the Moon
(D)  Revolve around the Earth

(A) e afea @1 St (B)  =EwT & I SR et
(C) eifafeer ¥ weft stmerft (D) el & i i weE st
(E) oraita w4
21 [ P.T.O.

AI?}@
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98  Where is Fullerenc used? my T manufacturing of jewellery
i s and stones . des 8
- (A) In cutl'lng ".)qu and stonc o naking clectrode {;)
(C)  In purification/ofinatural gas ')
(E)  Question not aftempted o0
G w1 37 el wr &2 . i P
(A) STz N e Y e (1) S 3 FT -

g s Pt €

(€ Wl g & e (D) o |

O et o is the relation of C will{b‘? '.
99  Cisthe mother of A KIT(] B. If D is the husband of B, then what is the 1 ‘ it ‘:

(A) Mother v ) (B) Mother-in-law

(C) Sister (D) Aunt

(E)  Question not attempted B
C, AR BRwm 7R D, pFafiddr can D Fr sy 7

YN O ERM (9] (0) (8 (~) (@) @Y @ SO 153

(a) =t (9.4] (B) wH

(C) =& ™ (D) /=TT

(B gEiawy O o

(100) In certain code “FROZEN" is written as “OFAPSG”. Then, how would “MOLTEN" belwritten in that code?
— Tl it “FROZEN" ®1 “OFAPSG” Rrarsmar ) A 3eft e T “MOL’I‘EN’%%%%@TWT? 4

(A) OFUPMN T 0 (B) OFPUMN FRoZENV |
2 (C) OFUMPN (D) OFUPNM oFRAPSU
; (E)  Question not Qt_le'mpted Ialﬂ?lﬁ'ﬂ g9 )

Read the passage and answer the questions that follow: (Que No: 101 to 104)
3 The end of human endeavodr js happiness and contentment. The advancement of science haginot been able to bring them
| about. On the other hand, it Kasimade our lives complex and crooked. We can see with alarm thelinending war which science
is waging against literature QEB art. The realm of poetry'is being c(:_-nquered day by day. 'i‘he ﬁBﬂling charms of Nature fly
at the cold touch of sci'enccﬁfﬁat a solace was there in thinking of the silently shining stars, mmessed-t:ar;di;;:f: Ee—lnjgbﬂ ;

uring suns and the rainbow of
a prism of colours! The cheer afd the charm are gone and the

; What comfort is now left fo the average man to know that the stars are but so many b
' Wordsworth, at the sight of WHich his heart leapt up with joy,
dull fact remains.
“‘Science’, observes G.B, § ‘never solves a problem without creating ten more,” Byt art an

' | : iterature are themselves the
solution to all our problems..All our worries leave us amid the Soun

ding cataracts of Wordswaorth .
v » the Skylark of Shelley
and the Nightingale of Keaty, They are a rest to the weary, an inspiration to the discouraged, sup pes

best antidote for trouble, 42! e tothe sad, and Nature
101 The cheer and the c}@;m of all humans are gonc.becgluse;
(A)  Nature is the BEst antidote for trouble
(B)  Science fails [3'bring them satisfaction as it has robbed
(©)  Science solvesall problems
(D)  People don't enjoy Wordsworth, Shelley, and Keats
(E) , Question not attempted '
102 Identify most incorr option from the following;
Art and literature hel5s us:
(A) 0 prevent oyrselves from trouble, (B)
) to solve all ow_—groblems. (D)
x ; Q#E?ﬁon not attempted
- 4

nature of jg charm

803 17003&C%

to make Materig] progre

. in life,
to Blve Test to the tired

eﬂg bored, : '
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103

104

106

107

108

The most appropriate meaning of the word *solace’ is:
(A)  Contentment (B) Comfort in distress
(C) Effort (D) Recalm
(E) Question not attempted
Match List-1 with List-11:
List-1 List-11
Words Synonyms
a. Endeavour L Dishonest
b. Crooked 11 Anything that prevents
c. Cataracts III.  Effort
Antidote IV.  Water that falls
Choose the most appropriate answer from the options given below:
(A) a-IV,b-Lc-III,d-1II (B) a-1V,b-Ill,c-1,d-1I
(C) a-Lb-Ic-1I,d-1V : (D) a-lLb-Ic-1V,d-1I

(E)  Question not attempted

Red panda is main fauna of which of the following biosphere reserves? .

(A)  Dibru-Dibang (B) Gulf of Mannar
(C) Nanda Devi (D) Nokrek

(E)  Question not attempted

T umve, Fefafea #§ & fre st sftamose =1 we 22

(A) fegfemm (B) wARH @it
(C) =Tt (D) TihE
(E) @i 9d
* The Punchhi Commission (2010) is associated with which of the following?
(A) Reforms in Education (B) Tax Reforms
(C) Center State Relations (D) Abolition of Death Penalty

(E)  Question not attempted
2t S (2010) Frefafta # & fred weifta 22

(A)  farEm #guw (B) W HUR

(C) FAETTHIY (D) W 2UE IS

(E) Igefaua ,

Who among the following was the first woman Deputy Chief Minister of Rajasthan?
(A) Kamla Beniwal (B) Vasundhara Raje

(C) Diya Kumari (D) Pratibha Patil

(E)  Question not attempted ;

fafafad 3 @ F14, T i gaw nfeen 3q.- g of?

© far - (D) ,
(B) sigaiaaa

How many MPs are nominated in Rajya Sabha by the President of India?
T 3 T BT Uy AT H farad wewdt (Mp) @) weet s s &9
Ay 18 B) 10

© 12 D) 6

(E) Question not attempted / Wﬂﬂﬂ?{ aq

A17 1@ . 23
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109

110

111

112

113

Etﬁﬁg[\ (B) a.tu;q;_a » 0’)

© FTEEITE ©) Ty O

® ST i e ©
Al7 ]@ g i =

.'*
ak. This Phienop i
ther member speak 'r'?*u !

ﬂ m ';-IJI; i
ielding the floor o e
. 3y Yielding!
(A)  Interpellationse) ) Crosssing the floot 00y .
(€)  Decorum ()

(E)  Question notf@ittempted :mﬁ-{ | 39 A T ST ;
Eﬂmnmvﬁwﬁmwaﬁm\aﬁﬁﬂmmﬁnﬁaﬁt?@m‘ﬁmﬁ‘ %‘?Eg ..;.}

ng and let ano
The speaker can nswpncmbcr of the House to stop speaking

known as: -
o}

@) W ) | ®) ng ~ .
© water Qe (D) ifTa ool 4
E s . for farmers)
i\’:lichmollmmfg is the name of a mobile application launched by R"Jf‘s.than Goyerament i :; !
(A)  Rajasthan Fatmiers App (B) Raj Kisan Jﬂfwk App (1) 1A ¢
(C)  Farmers Orghftit App (D) Kisan Organic App g :
(E) Question nolﬂemptcd m.,
R 2 Rrert S T e e T ST o g et Qe 1 AT 2.5 |
(A) mnwﬁwﬁ‘i:: (B) WWW@ =

© i sy | O FrEmSEHY

) T v

It
When was the ﬁrs&i\griculmre Budget presented in Rajasthan separately? (Choose the most approp .
from below)

mﬁaﬁm%mm%wmm (P 3 & el s e ) ™M

(A) 202223 ¢vy (B) 2023-24 g
(C) 202021 . (D) 2021-22 ™M
(E)  Question ndtattempted / FFaRa o
isa mcrEE?' used to store data temporarily, whereas stores data fgPmanently,
altered or deleted. -
(A) Compiler, ROM (B) RAM, Operating sy steF'
(©) RAM;ROMpp) (D) ROM; RAM

(E)  Question notattempted 8 : =
e A v s SRSt srerht w9 & He ¥ R SR, a%
& Tt wea o forg fipan st &, <t o wfafda ar e wdf s e are,

() T, fmg (B) W, iR Ry g'%
© ‘Wi @) Wy :
€) fawa [ (- £
Hardware that is usc‘a'!o provide information, data and to conro) signals O =28
called - (Choose the most appropriate option from below) Pute[‘s'?swm from
(A) Keyboard & dpuse ® T yonge, v b
(C) Ol..ltpu’l Dc}'l® (D) Secunda S ‘
(E) + Question not/afiempted Ty Storage Detipf

TPt T 1 e erdaat o 3T ared sy _
mg,?smm.ﬁlﬂwﬁﬁmwaﬁﬁm@)'m~mm' aﬁaﬁﬁaﬂtﬁp%


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda47]

114  The height of banana tree and lemon tree is same, Mango tree is shorter than plum tree. Guava tree is smaller than

mango tree but biggilithan banana tree. Find out which is the tallest tree?

Y
(A) Plumtree ¢y ' (B) Mango tree ::3
(C) Lemon tree(V) (D)  Guava tree 0 '
(E) Question nﬁicmptcd f”") I

3 et s o e a5 g s v o v A5 e

A 3T R T 91 Y3 1 |1 R 9 Ay 3 l“

(A) AR F g 3MB) amEy ol
© Higwrvg - L (D) AWEG HIUB
(E) aﬂaﬂaw o
115 Given statements l,g{gc true even if they seem to be at variance from commonly knqwjl facts , then decide which
conclusion would foflow on the basis of given statements. (4%
Statement : No I‘IGI'}[)CI' is a digit. ! ™)
= ; (-
All c%gl't are fractions. :
. ) o
Somg._ﬁi;xctlons are integers. I~
Conclusion : 1. All fractions can never be numbers. o]

II. Some integers are definitely not numbers.

In light of the abotgtatementé, choose the most appropriate answer from the options given below.

(A) Both conclysjon I and II follows (B) Neither conclusion I aegj'lor II fo!low
(C)  Only conclf¥idn I follows (D)  Only conclusion II follasys
(E) Question n(@ttempted ' )
mqa?rﬁqn&wf%mm% q?ra"r%mmwﬁ%ﬁ:m%% atra;i’o%;?t? i St S e
ATfeheh T STTATEATT ¢l g
E2°CH Eﬁwl %‘Ii“_ﬁ;%' ’ 63& Y ™

it 3w T f & @ﬁ«:ﬁ”«“

Fo e T | . Boh
fromd: 1 i1 wgga +ft deand e g werdl o

11 %2 ot fara &9 & dead 7€ & o0
e AT ST i, 1 f g freredt i & waffoe Iagw I ™
& aﬁﬁ@ﬁanm@mmm @) P ik qﬁaﬁ‘m@mmzl
(C)  Fact fAva Lyrat &t 8| (D) %saaﬁwaﬁumﬁm

(E) HgAf@ug v~

116 If the following words are arranged in the sequence which they occur in the dictionary then which of the word comes

in the middle ? N
AT A raftaa s s wer wsa gra g <y
Electric, l_!il% lﬂéh I}Jccl.wn, E Ir‘c%]u 0
(1%1 Election (B) * Elector )
(©) Electric r~ (D)_ Electrode -
(E) Question nqj,_;‘ttempted / ﬂiﬂﬂﬂ aq :‘:'2

A7 13 B 25 v [ P.T.O.
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119

120

121

Al17 ]@

(a) e e | ®) o fen

(©) e R ! (0) TR e

(E) w4
* Who was the first novel and drama writer of Rajasthani? (Choose the most appropriate option fro
(A) Nemi Charan Bhartiya (B)  Devi Charan Bhartiya

(C). ShivKumar Bhartiya (D) Shiv Chandra Bhartiya

R T —

Figure (i) and (ii) are related in a particular manncf. Establish the same relationship b¢

a figure.
Which figure would replace the question mark in fig.?

3 (§) 3 (ii)@@ﬂwﬁrﬁmaﬁ%ﬁmﬂﬁlaﬂlﬁﬁf(m)am(w)%ﬁ
1 LS v g (7)o e g e

00 oo\l -
?

(@ () (ii) (iv)

—

© | o, [

(E)  Question not attempted / FHANG 7

Which of the following option is different from others?
ﬁnﬁaﬁaﬁﬁ%aﬁ?mﬁmmwﬁwﬁv : N,
(A)  (7,56,4) ®) (9,306 or
© 184 o O ?:ﬁ,f 2)

L ae

(E) Quesnon not attempted / aqgﬂﬂ'tl w1
Rearrange the unorganised letters given below to crea

te meaningful

different from others ? A

e e A 3 forg STt amﬁahsqaﬁﬂmeﬁrﬁq sargr T A A @HEIE_HWEEI%QI
a.  DIAFRY b.  STEUDYA -
c. DHAIOLY d. ANDMYO

A) ¢ (B) d

© a @ b

(E)  Question not attempted / STTARA ) R :

Which fort is called ‘Sonar Quila’ or ‘Golden forc .

(B)  Amer Fort

(A)  Jaisalmer fort
(C) Jalore fort
(E) Question not attempted

Erferfer & forw foret a1 @R Rl m‘wﬁﬁ?ar%mamw%q

(D) Gagron fort

(E) " Question not attempted

s e e 3 e Qe A & (B & I R )
N S (B) 3 wor sy
© o A (D) o s vty

@ I

26
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GET ITON
Google Play

-
22 Allah Jillai Bai, affamous folk artist is well known for: "M
(A) Dance f}: (B) Folk Drama o
(@  Kuga Si“g“ig (D) Mand Singing a0
(E) Question I{l}t }attempted (V)
Wﬁaﬁaﬁ,g%mmw%rﬁ 3 ordy st e —
A T i":“ (B) <% ARH O
© gt (D) Wi e
(E) Afuia 9% i
23 A AR
O - 1 575 W o 4 WG 3 sfier rereh Forg 1 ST g 21 5}
& - 1 :ﬁmﬁé,m,qun,ﬁqmqﬁaﬁmmmﬁm%mﬁamﬁﬁmmﬁm%l
I el & ITetieh  Freiffaa et § & waffie Jugw Sw S ; o
(A) TR | g ot 11 e B | B) w1, g 1w R
©) wmﬁrﬁ%ﬁwﬁi (D) o 133 I
(E) 3‘13,?&39’%:_ : e
124 ﬁ%awﬁw@? i
YA - [ : F ST A0l 8l
HA - 11 : 3 Y o 8
Il et 3 STt # Pt foemedt o & watfrs Sugm 3 g : ™
(A) TR e o 11 ST R ®) FoAlsEad, R e
(©) wlaﬁr%m% D) wraﬂma‘lﬁw%
(B) STaf@siyin O
125 Microsoft Excel’s’formula begins with : o
AR T BT F 9 gE B 2 >
@ * v . ®) | v
©). : (D) i
(E)  Question laqtjattcmpted / ARG IH ™M
126 Which one is a spreadsheet program in MS Office? . & - o
(A) MS Word((3 .(B) MSExcel o0
(C) MS OutloéK) (D) MSPowerpoint (V)
(E)  Question tfo?attcmpted -
ﬁnﬁftaﬂ#m@aﬁ%&rms Office) 1T TEHE S &2 ©
(a) wWER (B) UHUH TR :
(C) (% = F3ETH (D) T T e @I
®) ARARA
127 Which of the foll§Wing is the theme of ‘Jal Shakti Abhiyan: Catch the Rain, 2023'? ™
(A) Source sus{;i}nabilily for drinking water (B) Save our water bodie§-Save our planet.
(C) Save Wale{:?}ave Earth, (D) Drinking water for alm
Question n'?L' ttempted M
A 7 4 ‘@ﬁ%:hah 2023'#&&&@_‘#%&&? 8
() st & e i i @eafafd) (B) Wit Srer e S| g e o St
© ST STl et AT (D) H‘ﬂﬂiﬁfﬂ.‘ﬁﬂﬂ'm’-ﬁ‘_‘
(E) m’iﬂﬁﬁﬁﬂ
[ P.T.O.

A17 1@ _ 27
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128

129

131

132

133

134

il
3

Who has been appointed as the Advocate General of Rajasthan in February 2024‘: o |
(A)  Rajesh Kumar Gupta (B)  Rajendra Prasad Gupt: -
(€)  Praveer Bhatnagar (D) N.M. Lodha |

(E)  Question not attempted

mﬂ2024ﬁfﬁn‘tmm%mmﬁnﬁma:mﬂmgmﬁmm%?

N S Aanyy
TR e S

(A) TSI (B)  Tr wars
(©) witwEEmR (D) VA, U, @G

A P TRy

(B)  rgala uy
High Mobility Artillery Rocket System (HIMARS) is developed by which country?

(A)  India (B)  China

(C) USA (D) Japan

(E)  Question not attempted

erd Mfaferd snféad e faen (HIMARS) =1 ferrer form 3um g fopm mam 22

(A) ¥ (B) =

© Jwu (D) SMH

(B)  srafa wy

According to IQAir, which city has recently been ranked as the most polluted city globally in 20237
(A)  New Delhi, India (B) Begusarai, India

(C)  Dhaka, Bangladesh (D)  Pokhara, Nepal

(E)  Question not attempted ;

Y T A (1QAr) F rga, forar 7 2023  watferes wafir wree 1 o, R reeay foam a2
(A) % feeeht, wra (B)  SEE, Wi

(C) =, aiey (D) R, 9T

(E) 3¥gafid wu

Who was the first Chief of Defence Staff (CDS) in India?
(A)  General Sam Manekshaw , (B)

e

v

General K. M. Cariappa
(C)  General Bipin Rawat (D)  General Anil Chauhan
(E)  Question not attempted

WA % W9 <% 3% fe1 =16 (CDS) % &4

(A) ¥ &9 QO : (B) SR %, . Sfgog
(C) wa fafy waq (D) T e ey
(E) ¥afita 9y

Choose the most appropriate sequence of articles to complete the followin

8 sentence:
Itis pleasurctodo ' business with such efficient Organization,
(A) a,__, B) a,_  an
(€©) __,aan M .,
(E)  Question not attempted
Choose the most appropriate word to complete the given sentence:
If you a skeleton in the cellar, don’t mention it to anyone,
(A)  founded (B)  will be I'mdiug
(C)  will find (D) find

(E) 4 Question not attempted
Choose the mosy appropriate meaning of the idiom given below:
His eldest son, a spendthrift, is a thorn in his side,

(A) Having a disease (B)
(©) A coﬁfslanl Source of annoyance to him (D)
(E) Qucsthn not attempted

Ising Painfy) co

nditj
An asgey on

£ o5 .0-
A17]3 o IPTE
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138

139

140

Complete the given sentence by choosing the most appropriate response from the options given below:
He was reprimanded his teacher for biting his nails.

(A) in (B) to
(C) for (D) by
(E)  Question not attempted

Which among the following was the major challenge India faced while building a nation state at the time of
independence?

(A) To establish democracy (B)
(C) Poverty (D)
(E)  Question not attempted

AT 36 R g T 3 Fmtor i i i RefRae i & R wipe it s e F e

Low level of Technology

Resource Constraint

(A)  <reas i TmeET B) i @ fe =
© bz (D)  wam
(B) Srufaws ‘

A mass based organisation MKSS took the initiative in demading records of famine relief work and accounts of
labourers was first raised in which state?

(A)  Uttar Pradesh (B) Rajasthan
(C) Bihar (D) Odisha
(E)  Question not attempted

e ST AT G134 U & T T (MKSS)ﬁmwmwmaﬁ;nmﬁ%@ﬁiﬁuﬁmgam%am
T IS T 4T?

(A) SEWRW (B) TSI
) Fer (D) ifesm
(E) i@ ws

On 6% November 1943, Premier Tojo announced that Japan had decided to hand over some islands to the provisional
Government of Azad Hind. Which islands were those?

(A) Andaman and Nicobar Islands (B) Maldives

(C) Cocolslands - (D) Lakshadweep Islands

(E)  Question not attempted j

6 TEET 1943 1, ST ST@ a3 o <, B S 3 o it e e A stafor wewr R wie ww ok e
HE - ac kiR

(A)  3iEEr S Frehrem (B) R

() FHE - (D) T
() o

Frferfiad H Ty €19 3164 1 U T A6l 8-

(A) fmmEmEE (B) hIeTETR
(®)) 1 FRaSy

efiy A H s feeim gy

o e 7 ot ferdieror =6 sy fepa v &2

(A)  fcATOTETF fadeor : (B) e feror
®) Tmﬁﬁw (D) wEETEE fagor
(B)  Fara s

Al7 ]@ 29 [ P.T.O.
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Given below are two statements: { f‘§
Statement (1):{The fusc is placed in parallel with the device in the circuit.
Statement (I1): The fusc used in the clectric circuit protects the appliances by ""0

GET IT ON
Google Play

wmg the flow of high Cun,

through them. (X)) v cn below.
In light of the aboye statements, choose the most appropriate answer from the 01’“"““1 gw

(A) Statement (1) is correct but Statement (I1) is incorrect, C

(B)  Statement (I) is incorrect but Statement (11) is correct, e

(C)  Both Statement (1) and Statement (1) are correct. 1

(D) Both Statement (I) and Statement (IT) are incorrect,
(E)  Question not attempted

R AT Rume §:

(v
U (1): RIS, s 3, swastor 3 wmie war smar )

HUT (1): Foreqe witow 1, Wﬁmmwﬁﬁﬂmﬁgﬂmﬁmmﬂwmm

A ot F i, A R ma feret o & wrartfiren 3uges s

(A) T (1) FR R, Ao o (1) srwea (B) e (I) e 8, Al W(IDW%'
(©  F () 3w an At (D) e (1) S FH (lﬂﬁf""—"ﬁ'
(E) Wﬁ‘ﬁm ""*x.
Which of the follomng 1s a physical change? :
(A) Dissolution of salt in water ~ (B) Formation of curd v
(C) Cooking olllfood (D) Ripening of fruit
(E)  Question not attempted o
Fresferfre & 8 ka1 e s aRerdr 27 | 3,
(A) mm@ﬁgm (B) & FHrSHAT ?
(©) i T (D) T 9T -y
(E) rgafazy M,
Match List-I wjth List-II: o
List-I List-II ‘?}
gilemical Substance Application / Usage e
a. Bleaching powder L Manufacturing of gla_—!
b Baking soda Il Dental medicals
c. Woashing soda L. Purification of dnnkm - water
d. Plaster of Paris IV.  Antacid
T1-1 31 g1 g gafera Aifsr - o
i Lt 0
Tt v SR gy )
o el R Lo sy
b. e M % fafore -t
c. FhimEEr W Wy
d. e A AV e v
Choose the most appropriate answer from the options given below:
12 g 770 it & @ wrarffires Iag 3TCT;
(A) a-1IV,BfULc-11,d-1 M) a-n,p. IV, ¢
€) a-LbANLc-1v,d-11 M aam,y. “IV. g l:l ;“J
(B)  Questiohmot attempted / S1afta w4 ¢ el .
Choose the p P!’mpriare English translation of the given Sentence: "
maaagqg’rﬁ £
You ecessarily sitting here. (B)  Withoy 3
gg)) For ::gnsr you sit here, _ (D) For nat :cltny "Sasa, Y"“ should not sit hﬂ“

! ason,
(E) Qll_es‘i 0n‘115t. ?t;cmpled ns, you a{c,§ ittin g here.
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140

147

148

149

150

h(l().\‘t— lhc ,'"f’\l ),
( M oa (] i

(A Adjudication

(©) Decision (3)  Authorization

(E)  Question not attempted (D) Arbitration

Choose the mosy appropriate s\
(A)  Yours obediently

(C)  Your's obediently

(E)  Question not attempted

yle of writing the subseription for a formal letter:
; (3)  Yours' obediently
(D) Your obediently

To protect monuments '
o e rents, places and objects of artistic or historic interests, which are declared to be of national
importance is included under Constitution of Indin under- - ' g '

(A)  Fundamental Rights (B)  Judical Review

((:‘) D:rcct.lve Principles of State Policy t (D) + Fundamental Duties 4
(E)  Question not attempted

?@‘mmwﬁﬁmﬁﬁtﬁmw%wﬁqﬁgtfwaw?riﬁﬁma%mﬁﬁmﬁﬁﬁmwaw
s & frffea 3 % Rred afafm 8

(A) AT e (B) T pEfdEm

(©)  Ta % +fifer fdwres Rrera (D) e e

(E)  SFfaia

Which of the following bank was sctup in 1982 by the Government of India, to address the issues of setting up of the
banking institution in the rural arcas?

(A) Central Bank of India .(B) SIDBI

(C) NABARD ' (D) Reserve Bank of India

(E)  Question not attempted

mmmmmﬁﬁﬁﬁﬁﬂﬁwﬁsﬁwaﬂ#%aﬁw%@ 1982 i frer & fem AT dwgm F1 9TET

(A) 2 e STm A | ® fh

(C) e (SO (D) el feord #6

(E) Agaia 5 .
Karewas is ; .

(A)  Thick deposit of glacial clay (B) A group of trackers
(C) A folk dance (D)  Desert soil

(E)  Question not attempted

FE 21 ‘
(A) %Wﬁa%ﬁﬁifﬁn’l@rm(ﬁﬁq) (B) ¥l T O R
(C) wHEFTI ‘ (D) e i

(E) a4

Identify the statement which is NOT correct about the Northern Plains of India?

(A) Bhangar is an old alluvial soil deposit

(B)  Khadar is a new alluvial soil deposit
(C)  Tarai is a narrow belt ranging between 8-10 km parallel to the Shiwalik foothills at the break-up of the Sldp‘é?

(D) Taraiis a belt consisting of old and new alluvial deposits.

\
P et 3 & T o 300 e v et i S e e @, e e -

S ’W%WWW%@WB:IUW_WWEQa
(E)  syqafaux 31 ,
[P.T.O.
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